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QUESTION 1

An administrator manages a TFTP server virtual machine that is connected to a Logical Switch with a VNI of 7321. The
TFTP server has been configured to use port 1069. An NSX Edge Service Gateway is connected to VNI 7321 and has
an uplink interface with access to the physical network. Assume external users can reach the Service Gateway.

What should the administrator configure to ensure external connections to the TFTP server are successful?

A. Create a DNAT rule with the original port of 69 and translated port of 1069.

B. Create a SNAT rule with the original port of 1069 and translated port of 69.

C. Create a SNAT rule with the original port of 69 and translated port of 1069.

D. Create a DNAT rule with the original port of 1069 and translated port of 69.

Correct Answer: A

QUESTION 2

After consulting with the network team, it is decided that Transport Zones will be configured with Unicast Replication
Mode for a new NSX for vSphere deployment.

Which statement is true regarding the function of the VXLAN Tunnel End Points (VTEPS)?

A. The VTEPs will send unicast frames to the NSX Controllers when the VTEPs do not have a MAC address in the MAC
table.

B. The VTEPs will switch to Multicast Replication Mode for those VTEPSs to which multicast path discovery is
successful.

C. The VTEPs will send multicast frames to all other VTEPs in the Transport Zone when the VTEPs do not have a MAC
address in the MAC table.

D. The VTEPs will send unicast frames to all local VTEPs and remote proxies in the Transport Zone when the VTEPs
do not have a MAC address in the MAC table.

Correct Answer: D

QUESTION 3

What are three switch features found only on vSphere Distributed Switches? (Choose three.)
A. Network I/O Control

B. CDP

C.LLDP

D. SR-IOV
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E. Port Mirroring

Correct Answer: ACE

QUESTION 4

-- Exhibit -

Spine

A :
Leaf :::: EERE EER EEE E::
L1 LN
LN via §1 52, 53, 54 L1 via $f 52 53 54

-- Exhibit -An NSX administrator has deployed the network shown in the Exhibit.
Based on the exhibit, which statement describes a valid method for redirecting traffic around the fault?

A. Building this topology using a layer 2 switched fabric with connectivity between the leafs would allow traffic to be
redirected around the fault to another leaf.

B. Building this topology using a layer 3 routed fabric with connectivity between the leafs would allow traffic to be
redirected around the fault to another leaf.

C. Building this topology using a layer 2 switched fabric with spanning tree will provide the quickest path around the fault
to another spine when connectivity is lost.

D. Building this topology using a layer 3 routed fabric will provide the quickest path around the fault to another spine
when connectivity is lost.

Correct Answer: D

QUESTION 5

High Availability (HA) was not initially configured when an administrator deployed an NSX Edge Service Gateway. What
should the administrator do to configure the NSX Edge with HA?

A. Select the NSX Edge instance from the NSX Edges view in Networking and Security. Go to Manage> Settings>
Configuration and add a NSX Edge appliance.

B. Delete the NSX Edge instance and redeploy it with HA. The existing NSX Edge configuration data will be lost.
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C. Delete the NSX Edge instance and redeploy it with HA. The configuration data is retained by NSX Manager and
pushed to the new NSX Edge instance.

D. Select the NSX Edge appliance from the Virtual Machines and Templates view. Go to Actions> All vCenter Actions>
Enable HA to configure High Availability.

Correct Answer: A
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